SR A IR

F A R

b3 £
i 5
£ =
B o5

BEES

s

BEEER
BaRER
R R
18-15-24-011



HENRE B 3

& [ R - kTR BAfT H = B ff i 2 =
EERIE 4, 855, 485
BRES ] 4, 855, 485
FiEEt 4, 855, 485
FlEkst 4,685, 300
mEtitE 145, 400
1 REHEE 1.00 145, 400 145, 400
=%
EHNE - BB 373,100
2 MEEREDZREER 1.00 373,100 373,100
=%

BHE 35 1,138, 500
3 FIF - BAEHEE 1.00 221,100 221,100
4 T EEHEMEN 1.00 449, 400 449, 400
5 BEREESE 1.00 468, 000 468, 000
&R K D 370, 800
6 LB ER DY 2.00 185, 400 370, 800

r—2
REMEDERE 788, 400
T KEGREB L UEBHREOREMRDE 2.00 394, 200 788, 400

=

r—2
BERRDEE 868, 400
8 MENEHETE 2.00 129, 200 258, 400

r—2




BENRE SHeEEREEBB LG
£ {71 3R - MR~k Bifig 2 H @ ® % wmE
I METEHE 2.00 136, 000 272,000
=
10 &R LEE - 125t 2.00 169, 000 338, 000
r—2

REER 178, 800

1 REERL 3.00 59, 600 178, 800
®

R 255, 100

12 $SRES/ERK 1.00 255, 100 255,100
=

E AR 365, 400

13 thiz - & 3.00 121, 800 365, 400
=]

BE 201, 400

14 BE 1.00 201, 400 201, 400
=

EERE 170,185

it 45, 000

15 EIREE E-AYUTRABITRE 1.00 45, 000 45,000
=R

EEARE 41,185

16 EHEARE 1.00 41,185 41,185
=R

BE 84, 000

17 ¥BRER 1.00 84, 000 84, 000
=




ISR THCEEERBE LR

% g R - KSR Bifr B 2 B i & B W =
E R 4,685,300 + 170, 185 4,855, 485
BEEAGE 4,685, 300
BE#RE 170, 185
T DR 4,685,300 x 53.85% ( 35% =+ (1 — 35%) ) 2,523,034
RHRIE 4,855 485 + 2,523,034 7,378,519
—RERESE 7,378,519 x 53.85% ( 35% + (1 — 35%) ) — 1,851 3,971, 481
KBS 7,378,519 + 3,971,481 11, 350, 000
HETREALE 11,350,000 x 10.00% 1,135,000
EBEREN 11,350,000 + 1,135,000 12, 485, 000




Rifiz -/ \v7r—o

TH6EEE BB LIRS

&5 :1
B ERETETE 14y
2 b g - BIRTE By = BHO(f ) W = " =
FEHRAR (F%ET)
A 1.00 64, 800. 00 64, 800
AR (A)
A 1.00 57,000. 00 57,000
HEm (B)
A 0.50 47, 200. 00 23, 600
& Hi 1YE%HeH - 1.00K 145, 400. 00 145, 400
&5 :2
£ MEEHREDHREEH 14y
2 b g - BIRTE By = BHO(f ) W E " =
F{EHRAR (F%ET)
A 1.50 64, 800. 00 97,200
AR (A)
A 1.50 57, 000. 00 85, 500
HEm (B)
A 2.00 47, 200. 00 94, 400
AR (C)
A 2.50 38, 400. 00 96, 000
& Hi 1E%HeH - 1.00K 373, 100. 00 373, 100
&5 :3
%5 FA - BAKHERE 1LY
2 b g - BIRTE By = BHoO(f ) W = " =
FEHRAR (F%ET)
A 1.00 64, 800. 00 64, 800
AR (A)
A 1.50 57, 000. 00 85, 500
HEm (B)
A 1.50 47, 200. 00 70, 800
& Hi 1EZRED - 1. 00405 221,100. 00 221,100




Rifiz -/ \v7r—o

TH6EEE BB LIRS

Hz5 .4
£ . L EE R EEEN 1LY
2 b g - BIRTE By = BHO(f ) W = " =
FEHRAR (F%ET)
A 0.50 64, 800. 00 32, 400
AR (A)
A 1.00 57,000. 00 57,000
AR (C)
A 5.00 38, 400. 00 192, 000
g
A 5.00 33, 600. 00 168, 000
& B 1EZRED - 1. 0005 449, 400. 00 449, 400
F5 .5
2% BEAEEETE 1HhmZ Y
2 b g - BIRTE By = BHO(f ) W E " =
F{EHRAR (F%ET)
A 1.50 64, 800. 00 97,200
AR (A)
A 2.00 57, 000. 00 114, 000
HEm (B)
A 3.00 47, 200. 00 141, 600
AR (C)
A 3.00 38, 400. 00 115, 200
& Hi 1EZRED - 1. 00405 468, 000. 00 468, 000
5 :6
£ BB ERLX M 1r—24Y
2 b g - BIRTE By = BHoO(f ) W = " =
AR (A)
A 1.00 57, 000. 00 57,000
HEm (B)
A 1.50 47, 200. 00 70, 800
AR (C)
A 1.50 38, 400. 00 57, 600
& Hi YEZEREDN 1,005 —R 185, 400. 00 185, 400




REAR-ET/Avr—> SHICE RSB B R RE

&5:7
£ KKES L UVEBKREORERORE 1r—24Y
2 b g - BIRTE By o = B ® W = " =
FEHRAR (F%ET)
A 0.50 64, 800. 00 32, 400
AR (A)
A 1.00 57,000. 00 57,000
HEm (B)
A 3.00 47, 200. 00 141, 600
AR (C)
A 2.50 38, 400. 00 96, 000
g
A 2.00 33, 600. 00 67,200
& B YEZEREDN 1,005 —R 394, 200. 00 394, 200
&5 :8
2% MEHEETE 1r—24Y
2 b g - BIRTE By H = B ® W E " =
HEm (B)
A 0.50 47, 200. 00 23, 600
AR (C)
A 1.00 38, 400. 00 38, 400
g
A 2.00 33, 600. 00 67,200
& B YEZEREDN 1,005 —R 129, 200. 00 129, 200
&5 :9
2% METEBETE 1r—24Y
2 b g - BIRTE By H = B ® W = " =
HEm (B)
A 1.00 47, 200. 00 47,200
AR (C)
A 1.00 38, 400. 00 38, 400
g
A 1.50 33, 600. 00 50, 400
& % fERBER 1,007 — 136, 000. 00 136, 000




Rifiz -/ \v7r—o

TH6EEE BB LIRS

55 :10
B AR LE - Rt 15—2%Y
4 b3 R - AR R BAf = B £ W = B &
FAEHRER (FRET)
A 1.00 64, 800. 00 64, 800
A (A)
A 1.00 57, 000. 00 57, 000
A (B)
A 1.00 47, 200. 00 47, 200
& E£82Hh 0 1.005—R 169, 000. 00 169, 000
211
2% EEER 1m& Y
4 b3 R - AR R BAf = B £ W = B =
A (B)
A 0.50 47, 200. 00 23, 600
HER (C)
A 0.50 38, 400. 00 19, 200
B8
A 0.50 33, 600. 00 16, 800
& YE¥RED ¢ 1. 008 59, 600. 00 59, 600
B55:12
ZF5  MEEMER 1RXHY
4 b3 R - AR R BAf = B £ W = B =
FAEHRER (FRET)
A 1.00 64, 800. 00 64, 800
A (A)
A 1.50 57, 000. 00 85, 500
A (B)
A 1.00 47, 200. 00 47, 200
HER (C)
A 1.50 38, 400. 00 57, 600
& it EZRED - 1.00 255, 100. 00 255,100




Rifiz -/ \v7r—o

TH6EEE BB LIRS

&5 :13
2% HiE - |E IEED)
2 [ g - BIKTE By = B O{f B W E w =
FEHRAR (F%ET)
A 1.00 64, 800. 00 64, 800
AR (A)
A 1.00 57,000. 00 57,000
& Hi 1YEZHEH - 1.00[E 121, 800. 00 121, 800
&5 :14
2 BE 15ty
2 b g - BIRTE By = BHO(f ) W E " =
F{EHRAR (F%ET)
A 1.50 64, 800. 00 97,200
AR (A)
A 1.00 57, 000. 00 57,000
HEm (B)
A 1.00 47, 200. 00 47,200
& Hi 1E%HeH - 1.00K 201, 400. 00 201, 400
&5 :15
W EIREE E-2UUJRHEITE 14y
2 b g - BIRTE By = BHoO(f ) W = " =
EIREE E-AYUTREITRE
= 1.00 45, 000. 00 45, 000
& Hi 1E%Heh - 1.00K 45, 000. 00 45, 000




Rifiz -/ \v7r—o

TH6EEE BB LIRS

&S .16
2% EHARE 1X&Y
% b R - BIRTiE BAGL 2 BO(f | W = B &
EXERARE
= 1.00 41,185.00 41,185
& Hi 1E%HeH - 1.00K 41,185. 00 41,185
&= .17
2% EBHRRA 1LY
2 b g - BIRTE By = BHoO(f %8 W = " =
EBHRERERE
= 1.00 84,000. 00 84,000
& Hi 1E%HeH - 1.00K 84, 000. 00 84, 000




